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And the first set were found to be discredited - ONIAP 2OARIT INXA

Overview

X217 establishes the X5°0 of the X712 with three sets of 27V in this manner. First set
of 0>7v testified (as mentioned in the Xn>°72), first tooth and then eye. 7"°2 ruled that
the master owes the 72¥ the value of an eye. A second set of 279 came (not mentioned
in the Xn»72) and testified first eye and then tooth. A third set of 0°7¥ came and were
o’ the first set. The first set must pay 7°¥ "n7 to the master. N901N explains why in
the X" the (first) set mentioned in the Xn>71 is the second set of the three sets,
while in the X9°0 the first set in the Xn»12 is the first of the three sets.!
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In the X2°0 it was necessary to say that the 2°7¥ which are mentioned in the

Xn92 (first tooth and then eye) who were 21371, they were the first set of witnesses,
as opposed to the Xw", where the 0°7¥ mentioned in the Xn>72 (first eye and then tooth) are the
second set of °7¥. The reason for this difference is -
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Because it was necessary to say, that we ruled according to their testimony. The
reason for that is -
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Since 1"y do not pay unless the case was adjudicated according to their

testimony -
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So, if this set of first tooth and then eye, did not come first (but rather second and
then they were o177), we could not have adjudicated the ruling according to their

testimony -
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However, in the X9, even though that the group which was eventually o117 (tooth
last) came at the end, after group one (eye last), nevertheless we will adjudicate

!'It is advisable to familiarize yourself with the both parts of the k>3, and the manner in which they are explained
X1pon? according to X11. See also ‘Appendix’ to the previous & 1"7 '01n (beginning on 2,3v).
2 This means the testimony of the witnesses that will ultimately be an.
3 We are being o°tn the set which says eye last. If the set of tooth last testified first, and then the set of eye last testified
second we would not rule like the second set, since they are contradicted by the first set, and since we are not ruling
like them we cannot be 0 them. However, if the set of eye last testified first, 7"2 will rule like them, and even
though they are later contradicted by the second set of tooth last, that does not matter, since eventually set three will
come and be 0 the first set, thus proving that 7wna7 (by set two) is 71 n?nn.
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the ruling based on the testimony of group two (tooth last), since both groups agree that
the master owes him at least the value of a tooth.

Summary
o7y cannot be onf, unless the ruling is adjudicated according to their testimony.

Therefore, in the X5°0 the 0>7v who were an7 (eye last) had to testify first, so their
testimony will be accepted.

Thinking it over

MooIN explained why the X970 cannot be like the Xw1 that the "'V (eye last) testified
second. However, the question still remains why is the X7 not structured like the
x5°0 that the 1"V (tooth last) testified first.*

4 See the X3 on 2,3v.
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